
Substitution into Formulae 

 

Using the formula 𝐴 = 𝐿 × 𝑊, find the 

value of 𝐴 when: 

(a) 𝐿 = 10 and 𝑊 = 6 

(b) 𝐿 = 2.5 and 𝑊 = 8 

(c) 𝐿 = 3.5 and 𝑊 = 4 

 

 

Using the formula 𝑠 =
𝑑

𝑡
 , find the value 

of 𝑠 when: 

(a) 𝑑 = 10 and 𝑡 = 2 

(b) 𝑑 = 450 and 𝑡 = 9 

(c) 𝑑 = 20 and 𝑡 = 2.5 

 

Using the formula 𝐴 =
𝑏×ℎ

2
 , find the 

value of 𝐴 when: 

(a) 𝑏 = 10 and ℎ = 12 

(b) 𝑏 = 5 and ℎ = 7 

(c) 𝑏 = 2.5 and ℎ = 10 
 

 

Using the formula 𝑉 = 𝐿 × 𝑊 × 𝐻 , find 

the value of 𝑉 when: 

(a) 𝐿 = 10, 𝑊 = 5 and 𝐻 = 2 

(b) 𝐿 = 8, 𝑊 = 6 and 𝐻 = 4 

(c) 𝐿 = 3, 𝑊 = 4 and 𝐻 = 2.5 

 

 

Using the formula 𝐹 = 𝑚 × 𝑎, find the 

value of 𝑉 when: 

(a) 𝑚 = 4 and 𝑎 = −6 

(b) 𝑚 = 7.5, and 𝑎 = −10 

 

Using the formula 𝐸 =
𝑚×𝑣2

2
 , find the 

value of 𝐸 when: 

(a) 𝑚 = 5 and 𝑣 = 2 

(b) 𝑚 = 20, and 𝑣 = 4 
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